fTo3 HaurmeHobarue S [pumeqarue
0003Ha Y, <
AAT  \llpozpammupyemsit 102u4eckulU KOHMPoOAAep
[1IK63-PYY999-x, TM “OBEH” /
AA2..AAG \Pene mbepdomensHoe odHogasHoe 250VAC
HD-XX22.10U, TM "KIPPRIBOR 5 ynp. 0-108
EKT.EKS \Haepebamesb pesucmubreiu
AAT QF1  |Abmomam 3auume /
11/IK63
QFT KoHm. Llens Llens KoHm.
[lumarue A5 2% AT Cems RS-485(A) | 44
2208 N N7 T tems RS-485(8) | 45
63 |Beixod 24B (+)
62 |Bbixod 248 (-) Lems | Kowm.
Boixod 1-1 3
KoHm. Lens Buxod 1-2 4 AAZ
12 |Bxod 11 Beixod 1-3 5 Koum.|  Lens Llens | Korm.
3 |Brod 1(2) Borod 210 | 6 |2 S5 o-wvoc | [zz08 | 1 2L K1
% |Bxod 103) Buxod2-2(-)] 7 |2 27| oowd | [zz08 | 2 2 11T °
% |Bx0d 2 (1 Boxod 1) | 8 |2
% |Bx0d2(2) Burodd2()| 9 | AAI
17 (Brod 203 Buxod b 117)| 10 |- Korm]  Llens LJens | Kowm
% |Brod 301 Buxod 42| 11 |2 95 Towvoc | [2208 | 1 HAlo £K?
19 |Brod3(2) Buxod 5-1(+) | 27 | 4T oo | {2z | 2 B4 T +—"e
B 20 |Bx03 3(3) Bonod 5-2(-)| 26 |2 v
5 21 |Bxod 4 (1) Bonod6-1(+) | 25 |2
2 22 |Bxod 4 (2) Bexod 6-2(-) | 24 60 Koum.|  Lens Llens | Korm.
E 23 |Brod 4 (3 Conn 1 7 g 7 [ e-ovoc | {2208 | 1 %«» ZEN.
S JuckpBxod 1 | 47 4 | Odyuo 2208 | 2 [T1T1 ]
Korm. Lens AuckpBxod 2 | 48 145
28 |Bxod5 (3) Luckp.Bxod 3 | 49
S 29 |Bxod5(2) Luckp.Bxod 4 | 50 Koum.|  Lens Llens | Koxm.
s 30 |Brod 5 (1 JuckpBxod 5 | 51 L Towvoc | (2208 | 1 e EK
s 31 (Brod6 (3 JuckpBrod6 | 57 B o | (2208 | 2 M2 TIT+—"e
32 |Bxodé6(2) Luckp.Brod 7 | 53 1%
33 |Bxod 6 (1) Auckp.Bxod 8 | 54
= 3 |Brod 7(3) Comm 2 59 Koum.| _ Lens Lens | Kowm
= 35 |Brod 702) 55 595 Tomvoc | {2208 | 1 AL EKS
z % |Bxod 77 57 60 =1 oowws | |28 | 2 48 Trr—2
= 37 Bx0d 8(3) 3 [ %
38 |Bxod 8 (2) S [ 59
o 39 |Bxod 8 (1) 60
S 40 |MP1(W) 61
3 41 |mP1(x)
= 42 _|MP1(Y) Uens | Paben [1/IK63, Aum. Macca | Macwmad
= 43 _|MP1(Z) RS-232_| RIZ Wam. | Mlucm | W dogm, Modnucs | Aama Ynpabrerue mbepdomessHsiv pene
Paspad. cuzHanom 0-108
[pobep.
§ T.KoHmp. CxemMa 3/exkmpuyeckas NpUHLUNUAbHAS Mucm | Nucmob 1
= Pyk.pas.
§ HkoHmp.
Ymé.
Konupoban Popmam A3




